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\¥Op^r 
PUNJABI 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 100 

Time allowed : 3 hours Maximum Marks : 100 

1. hyS¾ qdIy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} :   25=10 

 qOhmy `²§¾tI g`pOH q²¾a`-Hp²¥¾v²¾p£ AWy Zpcq`H EYyfp£ \oWr eM²¾^§Z 

ht¥Yy h²¾ E²¾ªp£ Yy `²¾ qe§M q²¾c`dWp AWy H}`dWp Yy JtVp£ Yp qeHpg ht¥Yp h±, 

qOg qeM~ YqBAp Yp gYJtV qeHpg ht¥Yp h± & YvOy OrAp£ \oWr \±Yp h}Br 

  Please check that this question paper contains 7 printed pages. 

  Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 16 questions. 

  Please write down the Serial Number of the question before 

attempting it. 

  15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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YqBAp _pe²¾p `²§¾tI ²¥¾v `²§¾tI ²¾pd O}mYr h± AWy Eg ²¥¾v \o_v Yy ²y¾my d± Op£Yr  

h± & Jtcv ²¾p²¾H YqBAp _pe²¾p Yy qeHpg ²¥¾v gqMApc Yy \¥Z ²¾pd O}mYy h²¾ & 

Yp²¾ Yp EYyf Ap\Vr H`pBr qeM~ Jcr^p£ AWy d}m-e¥Yp£ Yr ghpqBWp HcHy 

Ap\Vy `²¾ ²¥¾v gp³ Hc²¾p ht¥Yp h± & qBg dBr Yp²¾ Hc²¾ epdy Yy `²¾ qeM 

q²¾c`dWp AWy g¥O` Yr _pe²¾p h}Vr MphrYr h±, qOg ²¾pd Yp²¾ d±V epdy 

qeAHWr Yy `²¾ qe§M hr²¾ _pe²¾p \±Yp ²¾p h}By & qg§I Zc` qeM d¥Jc Yr 

\c¥\cp ²¥¾v er qBgy Yp qegWpc cv\ `¥q²¾Ap Op gHYp h± & 

(i) q²¾c`dWp AWy H}`dWp Yy JtVp Yp qeHpg qH²¾ªp£ Yy `²¾ qeM ht¥Yp h± ? 

(ii) `²§¾tI ²¥¾v `²§¾tI ²¾pd qHhmr _pe²¾p O}mYr h± ? 

(iii) Jtcv ²¾p²¾H Yye Or gqMApc ²¥¾v qHg _pe ²¾pd O}mYy h²¾ ? 

(iv) Yp²¾ Yp EYyf Hr h± ? 

(v) Yp²¾ d±V epdy Yy `²¾ qeM hr²¾ _pe²¾p \±Yp ²¾p h}ey, qBg dBr Hr HrWp 
Opey ? 

2. hyS¾ qdIy qeqfAp£ qeM~ qHgy qB§H  E\§c 200 f^Yp£ Yp dyI qdI} : 10 

(i) Yyg _JWr 

(ii) Zc` q²¾c\yIWp 

(iii) glpBr Yp `hW§e 

(iv) AgqhVfrdWp 

3. ‘Br-`yd’ _yOV Yr qeZr ^pcy 100 f^Yp£ qe§M OpVHpcr qYG & 7 

Op£ 

 Wthp²¥¾v Ap\Vy YlWc dBr H¥q\FRc G\cyRc Yr d}m h± – qBg ^pcy Ai^pc 
dBr qB§H 100 f^Yp£ Yp qBfqWhpc qWApc Hc} &  

4. qgApgr qecpgW ^pcy Ap\Vy qeMpc Ai^pc Yy g¥\pYH ²¥¾v qdI} & 8 

Op£ 

 YqdWp£ Yy EXp²¾ ^pcy Ap\Vy qeMpc \yf HcYr qBH qM§S¾r Ai^pc Yy g¥\pYH 
²¥¾v qdI} & 
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5. hyS¾ qdIy `thpeqcAp£ qeM~ qW¥²¾  Yy AcX g\fR HcYy h}By epH ^VpG : 3 

(i) d}hp dpIp h}Vp 

(ii) R¥J AmpEVr 

(iii) T¥J R\pEVp 

(iv) Rt§R Hy \±Vp 

(v) U} UtHVp 

6. (i) hyS¾ qdqIAp£ qe§M~ ft§Z f^Y-O}m MtV} :  2 

(1) (C) Agh 

 (A) Agqh 

(2) (C) qehdm 

 (A) eyªdm 

(ii) hyS¾ qdIy f^Yp£ ²¥¾v ft§Z HcHy qdI} : 2 

(C) H}dr 

(A) ^pZv 

(iii) f^Y O}mp£ Yy ²y¾`p£ ²¥¾v qZAp²¾ qeM cIYy h}By Y§g} qH hyS¾ qdIy epHp£ 

qeMdy dHrcy f^Yp£ qe§M~ qHhmp f^Y ecqWAp OpeyJp & 2 

(C) 15 `Br ²¥¾v gtI^rc Yp q`§Wc ApByAp/ApqBAp & 

(A) ²¾qc¥Yc ^htW gtdqOAp/gtdqPAp ^¥Yp h± & 

7. hyS¾ qdIr epcWp qe§M qegcp` qM¥²¾ª dJpG : 3 

Eh ghr gXp²¾ Wy \ht¥M Wy qJAp \c dyR gr qBg HcHy cp` ²¾pd EgYr 

`tdpHpW ²¾hs h} gHr 
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8. hyS¾ qdIy epHp£ ²¥¾v ft§Z HcHy qdI} : 3 

(i) g§\ ²y¾ H§R qdAp Eg²¥¾v & 

(ii) H`pd h} qJAp ! eph ! 

(iii) `sh ^¥Y h} qJAp Oy `| g±c Hc²¾ Opep£Jp Wp£ 

9. hyS¾ qY§WrAp£ Hpqe RtHmrAp£ qe§M~ qHgy qB§H  Yy A¥W qe§M \t§Ny JBy \of²¾p£ Yy 
E¨Wc qdI} : 8  8 

Acfr qHc²¾ qB§H Apegr 

d±gr Byg dtHpqB, 

P}Hp `W HtBr \¡V Yp 

Yyey ZcW qJcpqB & 

(i) qBh gWcp£ qHg Her Yr qHg HqeWp qe§M~ h²¾ ? 

(ii) Acfr qHc²¾ qHg ²¥¾v dtHpqBJr ? 

(iii) ‘\¡V’ AWy ‘P}Hp’ Yy AcX Hr h²¾ ? 

(iv) qB²¾ªp£ gWcp£ qeM qHg g¥gpcH g§M Yy chg ²¥¾v \yf HrWp qJAp 
h± ? 

Op£ 

q³c er H¥` HcpeV epdy, 

`pc `pc Hy Np£Rp£, 

`pgv`p£ Yy q\¥qTAp£ E¨Wy, 

Mpmªr OpV gdpRp£ & 

(i) qBh gWcp£ qHg Her Yr qHg HqeWp ²¾pd g¥̂ ¥qZW h²¾ ? 

(ii) qB²¾ªp£ gWcp£ qe§M qHg \oHpc Yp qYof \yf HrWp qJAp h± ? 

(iii) ‘q\¥qTAp£’ AWy ‘gdpRp£’ Yy AcX Y§g} & 

(iv) qBXy ‘`pgvAp£’ E\c ktd` Yp Hr HpcV h± ? 
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10. qHgy qB§H Hpqe-RtHmr Yr \og¥J gqhW qeApqIAp Hc} : 7 

AVMpqhAp Or Oc²¾p 

q²§¾W qHgy Yyh qe§M 

³t§d ^V qIm²¾p 

q²§¾W Wpcp ^V Mmª²¾p 

Agp£ Wp£ O}̂ ²¾ ct§Wy `c²¾p 

      Op£ 

\§H JBrAp£ HVHp£, dtHpS¾ c§qgAp, 

^vc q\Ap A¥^p£ ²¥¾v, Jtdp^ h§qgAp & 

^pjp£ E¨Wy c¥J ³yqcAp ^hpc ²y¾, 

^ycrAp£ qd³pBrAp£ RphVrAp£ Yy _pc ²y¾ & 

11. hyS¾ qdIy epcWpdp\-A¥fp ²¥¾v \mª Hy qHgy qB§H hyS¾dy E¨Wc qdI} : 13=3 

‘‘g}²¾-HpR} h±Jr gr Op£ ²¾hs, qBg ^pcy HtP ²¾hr 

gr qHhp Op gHYp & K}Jy epgWy Eh h±Jr gr &’’ 

(i) g}²¾-HpR} H¡V h± ? 

(ii) K}Jy epgWy g}²¾-HpR} qHE¤ h± ? 

(iii) qBg epcWpdp\ ²¾pd g¥̂ ¥qZW \tgWH AWy dyIH Yp ²¾p£ qdI} & 

Op£ 

‘‘Eh²¾p£ ²y¾ EhYr Hp\r YyIr, Itf h}By Wy 

Iv^ fp^pf qY§Wr & K}Jp er Itf h} qJAp &’’ 

(i) qHg ²y¾ qHg Yr Hp\r YyIr ? 

(ii) K}Jp Itf qHE¤ h}qBAp ? 

(iii) K}Jy ²¥¾v fp^pf qHE¤ q`dr ?  



4 6 

12. ²¾ped ‘JtApqMAp `t¥Tp’ \pS¾H ²¥¾v Hr g¥Yyf qY¥Yp h± ? 7 

Op£ 

 ²¾ped ‘JtApqMAp `t¥Tp’ Yr qHhmr KR²¾p Wthp²¥¾v M¥Jr d§Jr h± AWy qHE¤ ? 

13. qHgy qB§H  \og¥J Yy ApZpc Wy qY§Wy \of²¾p£ Yy E¨Wc qdI} : 5  8 

 ‘‘qH¥²¾rAp£ hr cpWp£ h} JBrAp£ g²¾, It_ Hy ²¾sYc ²¾hs gr ApBr Eh²¥¾v & c}k 

geycy OY~ Eh q^gWcy qe§M~ ES¾Yr, Eh²¥¾v dJYp `rdp£ Yy `rd gpcr cpW Eh 

RtcYr chr gr & g§Ws-geycs OY~ d}H h¡dy ³td h} Hy OpJYy h²¾, Eh  

`Vp£-`v¥hr XHpeR ²¾pd d§Yr h}Br OpJYr &’’  

(i) qBh RvH qHg HhpVr qeM~ dBr JBr h± ? 

(ii) Eg ²¥¾v qH¥²¾rAp£ hr cpWp£ W~ ²¾sY qHE¤ ²¾hr gr Ap chr ? 

(iii) ‘It_ Hy ²¾sYc ²¾hr gr ApBr’ W~ Hr _pe h± ? 

(iv) ‘`Vp£-`v¥hr’ Yy Hr AcX h²¾ ? 

(v) Eh ‘XHpeR ²¾pd d§Yr’ qHE¤ OpJYr gr ? 

Op£ 

 ‘‘Byg eydy Apap M¥Tr Yp cv\ Zpcr q³cYr gr & Eg²y¾ \±gy ²¾p ep\g Hc²¾ Yp 

³±gdp Hc qdAp gr & fpqBY qBg dBr qH q`§g g¡³R Hc er Hr gHYr gr ? 

E¤O er Y} g¡ ct\By Eg dBr H}Br ByTr e§Tr cH` ²¾hr gr ...’’  

(i) ‘M¥Tr Yp cv\’ Hr ht¥Yp h± ? 

(ii) Eg²y¾ ¾\±gy qHE¤ YyVy gr ? 

(iii) ‘q`§g g¡³R’ H¡V h± ? 

(iv) q`§g g¡³R dBr Y} g¡ ct\By e§Tr cH` qHE¤ ²¾hr ? 

(v) qBg HhpVr Yp dyIH H¡V h± ?   
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14. ‘geyc h}V W§H’ HhpVr qeM qHgp²¾ \qcepc YrAp£ qHhmrAp£ g`§qgApep£ ²¥¾v 

E_pqcAp qJAp h± ? 5 

                                Op£ 

‘qW¥²¾ qY²¾ Yp ^yBr`p²¾’ HhpVr Yp ²¾pqBH qHg `p²¾qgH Ytq^Zp Yp qfHpc h± 

AWy Eg ’M~ ^phc qHez q²¾HdYp h± ? 

15. gvlr Hpqe Yr qeMpcZpcp ^pcy Ap\Vp qeMpc 150 – 200 f^Yp£ qe§M \yf  

Hc} &  10 

Op£ 

\¥Op^r gpqhW qeM Jtc`qW Hpqe Zpcp Yr qefyfWp ^pcy 150 – 200 f^Yp£ 
qe§M qeMpc Hc} & 

16. ‘‘Wycr H}Br `YY qHE¤ Hcy OY~ qH Wv¥ Ap\ Ap\Vr `YY ²¾hs HcYp &’’ qB²¾ªp£ 

gWcp£ W~ \Wp dJYp h± qH `²§¾tI ²¥¾v \qhdp£ Ap\Vr `YY Ap\ Hc²¾r MphrYr 

h± – Wtgs qBg ^pcy Ap\Vy qeMpc 100 – 125 f^Yp£ qe§M qdI} & 5 

 15,500 


